=2

10.

11.

12.

13.

14.

15.

16.

17.

18.

Name:

T

sSin

sin
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MA 2320: Quiz 4

2 Szdl,

2

2

w2—1

3 d. Try u =2 and dv = xe

3z

/-

|

/ 2265 d
e
[
o
=

3(4x) cos® (4) dx

——dx
/\/xQ—H

&=

dz Hint use sin(20) = 2sin(f) cos(6)

2
4

/x3+ dx
3 —x

T +4

3
d
/x3+m v

/x2—1

I
[

1

3

1
1+ 22

1

72dx

1

—dm

0

dx

dxr

When does floo mip dzx converge or diverge? That is, for what values of p
does the integral converge or diverge?

r
r

x4+ 4
R

3x+4
3+

dx. See Problem 10

dx. See Problem 11



